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PRACTICE PAPER (2021-22) 

CLASS : XII 
SUBJECT : ENGINEERING GRAPHICS (046) 

le; % 90 feuV vf/dre vad & 35 

Time Allowed : 90 Min. Maximum Marks : 35 

lkekU; funsZ'k& 

1- iz'u i=k esa rhu Hkkx v] c vkSj l gSA 

2- Hkkx&v eas 25 iz'u gSaA dksbZ 20 iz'u gy djsaA 

3- Hkkx&c esa 24 iz'u gSaA dksbZ 20 iz'u gy djsaA 

4- Hkkx&l esas 6 iz'u gSaA dksbZ 5 iz'u gy djsaA 

5- lHkh iz'uksa osQ vad leku gSA 

6- dksbZ udkjkRed vadu ugha gSA 

GENERAL INSTRUCTIONS: 

1. The question paper contains three sections A, B and C. 

2. Section-A has 25 questions. Attempt any 20 questions.  

3. Section-B has 24 questions. Attempt any 20 questions. 

4. Section-C has 6 questions. Attempt any 5 questions. 

5. All questions carry equal marks. 

6. There is no negative marking.  

********* 

[kaM&v 
Section-A 

1- iz{ksi.k dh izFke dks.k fof/ esa oLrq dks fdl [k.M esa ekuk tkrk gS\ 

 (a) izFke [k.M (b) f}rh; [k.M 

 (c) r`rh; [k.M (d) prqFkZ [k.M 
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 In first angle projection method, object is assumed to be placed in which 
quadrant? 

 (a) First Quadrant (b) Second Quadrant 

 (c) Third Quadrant (d) Fourth Quadrant 

2- ,d leiapHkqt dk vkarfjd dks.k fdruk gksxk\ 

 (a) 30º (b) 60º 

 (c) 108º (d) 120º 

 What is the interior angle of a regular pentagon? 

 (a) 30º (b) 60º 

 (c) 108º (d) 120º 

3- fuEufyf[kr esa ls dkSu&lh isafly xzsiQkbV dk xzsM lcls dBksj gS\ 

 (a) ,p ch (b) 2 ,p 

 (c) 2 ch (d) 4 ,p 

 Which is the following grades of pencil leads is the hardest? 

 (a) HB (b) 2H 

 (c) 2B (d) 4H 

4- fdlh Hkh eki dk dks.k cukus osQ fy, fdl Mªkbax midj.k dk iz;ksx fd;k tkrk 

gS\ 

 (a) pank (b) Hkktd 

 (c) ijdkj (d) LosQy 

 For drawing angles of any measurement, which of the following drawing 
tool is used? 

 (a) Protractor (b) Divider 

 (c) Compass (d) Ruler Scale 
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5- fuEufyf[kr esa ls dkSu&lh js[kk dkV n`'; dks fn[kkus osQ fy, iz;ksx gksrh gS\ 

 (a) vn`'; js[kk,a (b) yhMj js[kk,a 

 (c) osQUnz js[kk,a (d) gSfpax js[kk,a 

 Which of the following lines are used to show that the object is cut ad then 
viewed? 

 (a) Hidden Lines (b) Leader Lines 

 (c) Centre Lines (d) Hatching Lines 

6- o`Ùk dk leifjek.k iz{ksi.k fdl vkdkj dk gksxk\ 

 (a) nh?kZo`Ùk (b) vuqo`Ùk 

 (c) o`Ùk (d) pozQt 

 What will be the shape of a “circle” in an Isometric Projection? 

 (a) Ellipse (b) Parabola 

 (c) Circle (d) Cycloid 

7- fuEufyf[kr esa ls dkSu&lk LFkk;h ca/d gS\ 

 (a) fjosV (b) uV&cksYV 

 (c) isp (d) LVM 

 Which one of the following is a Permanent Fastener? 

 (a) Rivet (b) Nut-bolt 

 (c) Screw (d) Stud 

8- ,d òxkdkj pwM+h esa ozsQLV vkSj :V osQ chp dh nwjh (D) D;k gksxh ;fn fip (P) 

nh xbZ gks\ 

 (a) D = 0.86P (b) D = 0.50P 

 (c) D = 0.64P (d) D = 0.96P 
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 For a square thread, what is the distance (D) betwen the crest and root when 
pitch (P) is given? 

 (a) D = 0.86P (b) D = 0.50P 

 (c) D = 0.64P (d) D = 0.96P 

9- ,d "kV~dks.kh; uV esa pEiQj dks.k gksxk --- 

 (a) 30º (b) 45º 

 (c) 60º (d) 15º 

 The angle of chamfer in hexagonal nut will be ... 

 (a) 30º (b) 45º 

 (c) 60º (D) 15º 

10- ;fn ,d cksYV 'ksad dk ukWfeuy O;kl D gks rks mlosQ "kV~dks.kh; uV osQ nks ÝySVksa 

osQ chp dh nwjh D;k gksxh 

 (a) 1.3D (b) 1.5D+3 

 (c) 1.4D (d) 1.6D 

 If D is nominal diamter of bolt shank, then what is the width across the flats 
in case of hexagonal nut? 

 (a) 1.3D (b) 1.5D+3 

 (c) 1.4D (d) 1.6D 

11- ,d Iysu okW'kj dk cká O;kl D;k gksxk ;fn cksYV dk ukWfeuy O;kl “D” fn;k 

x;k gks\ 

 (a) 2D+3 (b) 1.5D 

 (c) D (d) 1.5D+3 

 What is the outer diamter of plain washer when nominal diameter of bolt is 
D? 

 (a) 2D+3 (b) 1.5D 

 (c) D (d) 1.5D+3 
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12- ;fn ,d oxkZdkj LFkku cksYV osQ fljs osQ fy, NksM+k x;k gks rks dksu&lh rjg dk 

cksYV pquk tk;sxk\ 

 (a) oxkZdkj fljs okyk cksYV (b) "kV~dks.kh; fljs okyk cksYV 

 (c) Vh fljs okyk cksYV (d) gqd cksYV 

 Which type of bolt can be used where the head of the bolt is to be 
accomodated in a square recess with a little clearance? 

 (a) Square Headed Bolt (b) Hexagonal Headed Bolt 

 (c) T Headed Bolt (d) Hook Bolt 

13- cksYV dh yEckbZ] bldh oqQy yEckbZ osQ cjkcj gksrh gS] 

 (a) cksYV fljs dh maQpkbZ ;k eksVkbZ osQ flokA 

 (b) cksYV fljs dh maQpkbZ ;k eksVkbZ lfgrA 

 (c) pwM+h dh yEckbZ osQ flokA 

 (d) buesa ls dksbZ Hkh ugha 

 The length of a bolt is equal to total length, 

 (a) Excluding the height or thickness of bolt head. 

 (b) Including height or thickness of bolt head. 

 (c) Excluding threaded length. 

 (d) None of the above. 

14- fuEufyf[kr esa ls udy pwM+h fdl iz;ksx esa ugha yh tkrh\ 

 (a) bldk iz;ksx jsyos oSQfjt ;kstd isp esa gksrk gSA 

 (b) bldk iz;ksx dkap dh cksry osQ fljs ij gksrk gSA 

 (c) bldk iz;ksx iqjkus fctyh osQ cYc ij gksrk gSA 

 (d) ;s rkaf=kd 'kfDr osQ izs"k.k dk lcls vPNk fodYi gSA 
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 Which of the following is not a use of knukcle thread? 

 (a) It is used in railway carriage coupling screws. 

 (b) It is used on the neck of glass bottles. 

 (c) It is used on the old electric bulbs. 

 (d) It is the best choice for mechanical power transmission. 

15- fuEufyf[kr esa ls fdl pwM+h izksiQkby esa vkarfjd o cká pwM+h izksiQkby 

vyx&vyx gksrk gS\ 

 (a) ch-,l-MCY;w- pwM+h (b) esfVªd pwM+h 

 (c) oxkZdkj pwM+h (d) udy pwM+h 

 Which of the following thread profile have different profile for external 
thread and internal thread? 

 (a) B.S.W. Thread (b) Metric Thread 

 (c) Square Thread (d) Knuckle Thread 

fjDr LFkku HkjsaA 

Fill in the Blanks. 

16- og dks.k ftldks ge nksuksa ledks.kdksa dk iz;ksx djosQ fuekZ.k ugha dj  

ldrs ---------- 

 (a) 15º (b) 105º 

 (c) 165º (d) 125º 

 The angle which we cannot make using both the set-square is _______. 

 (a) 15º (b) 105º 

 (c) 165º (d) 125º 
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17- ,d ?ku esa ---------------- Bksl fod.kZ gksrs gSA 

 (a) 2 (b) 4 

 (c) 6 (d) 8 

 A cube has _______ solid diagonals. 

 (a) 2 (b) 4 

 (c) 6 (d) 8 

18- ,d leifjek.k iSekus dk iz;ksx fdlh oLrq dh okLrfod yEckbZ dh -------- yEckbZ 

ekius osQ fy, gksrk gSA 

 (a) vxzlsfir (b) leku 

 (c) vf/d (d) nqxuh 

 The isometric scale is used to measure the ______ length of a true 
dimensions of any object. 

 (a) Foreshortened (b) Equal 

 (c) Larger (d) Double 

19- os js[kk,a tks leifjek.k v{kksa osQ lekukarj gS] mudh ----------- dgk tkrk gSA 

 (a) lekukarj js[kk,a (b) {kSfrt js[kk,a 

 (c) leifjek.k js[kk,a (d) Li'kZ js[kk,a 

 The lins parallel to isometric axes are known as _______. 

 (a) Parallel Lines (b) Horizontal Lines 

 (c) Isometric Lines (d) Tangent Lines 

20- ,d iwjs pDdj esa uV osQ }kjk cksYV ij v{kh; fn'kk esa r; dh xbZ nwjh -------- gSA 

 (a) yhM (b) fip 

 (c) ÝySad (d) xgjkbZ 
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 The distance moved by a nut on a bolt in its axial direction in one complete 
rotation is _______. 

 (a) Lead (b) Pitch 

 (c) Flank (d) Depth 

21- ,d ch-,l-MCY;w- pwM+h izksiQkby esa nks ÝySadks osQ chp dk dks.k ----------- gSA 

 (a) 30º (b) 75º 

 (c) 55º (d) 120º 

 For a B.S.W. thread profile, the angle between the two flanks is _____. 

 (a) 30º (b) 75º 

 (c) 55º (d) 120º 

22- ,d LozqQ pwM+h izksiQkby esa] ÝySad ,d ------------ gSA 

 (a) js[kk (b) fcUnq 

 (c) nwjh (d) lrg 

 In a screw thread profile, flank is a ______. 

 (a) Line (b) Point 

 (c) Distance (d) Surface 

23- ,d "kV~dks.kh; uV dks vxyh idM+ cukus osQ fy,] ikuk ------------- osQ dks.k ij 

?kqekuk iM+sxkA 

 (a) 30º (b) 45º 

 (c) 60º (d) 15º 

 In a hexagonal nut, the angle through which the spanner will have to be 
turned to get next hold is ______. 

 (a) 30º (b) 45º 

 (c) 60º (d) 15º 
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24- SQ 40×4 ukei¼fr dk eryc ---------- gSA 

 (a) oxkZdkj pwM+h_ ukWfeuy O;kl ¾ 40 fe-eh-_ fip ¾ 4 fe-eh- 

 (b) oxkZdkj pwM+h_ fip ¾ 40 fe-eh-_ ukWfeuy O;kl ¾ 4 fe-eh- 

 (c) esfVªd pwM+h_ ukWfeuy O;kl ¾ 40 fe-eh-_ fip ¾ 4 fe-eh- 

 (d) ch-,l-MCY;w- pwM+h_ ukWfeuy O;kl ¾ 40 fe-eh-_ fip ¾ 4 fe-eh- 

 The nomenclature SQ 40×4 stands for ______. 

 (a) Square Thread; Nominal Diameter = 40 mm; Pitch = 4 mm. 

 (b) Square Thread; Pitch = 40 mm; Nominal Diameter = 4 mm. 

 (c) Metric Thread; Nominal Diameter = 40 mm; Pitch = 4 mm. 

 (d) B.S.W. Thread; Nominal Diameter = 40 mm; Pitch = 4 mm.  

25- ,d Iysu okW'kj dh eksVkbZ ------------ gksxh] ftlosQ cksYV dk ukWfeuy O;kl “D” 

fn;k gksA 

 (a) D/8 (b) D/6 

 (c) D/4 (d) D/2 

 _________ is the thickness of a plain washer when nominal diameter of bolt 
is ‘D’. 

 (a) D/8 (b) D/6 

 (c) D/4 (d) D/2 

[kaM&c 

Section-B 

fdUgha 20 iz'uksa osQ mÙkj nhft,A 

Attempt any 20 questions. 

26- ,d 40 fe-eh- yEch js[kk vius leifjek.k iz{ksi.k esa NksVh gks tkrh gS bldh 

yxHkx leifjek.k yEckbZ D;k gksxh\ 
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 (a) 32.64 fe-eh- (b) 40.00 fe-eh- 

 (c) 25.64 fe-eh- (d) 49.02 fe-eh- 

 A 40 mm line will be foreshortened in its isometric projection, what will be 
the approximate isometric length of this line? 

 (a) 32.64 mm (b) 40.00 mm 

 (c) 25.64 mm (d) 49.02 mm 

27- ,d ?ku osQ iQydksa dk leifjek.k iz{ksi.k fn[ksxk ------------ 

 (a) oxZ (b) leprqHkqZt 

 (c) vk;r (d) lekukarj prqHkqZt 

 In an isometric projection of a cube, faces of cube are seen as ______ 

 (a) Square (b) Rhombus 

 (c) Rectangle (d) Parallelogram 

28- ,d ch-,l-MCY;w- pwM+h izksiQkby dh c<+h gqbZ fip (P) 40 fe-eh- gS] bldh 

okLrfod xgjkbZ (d) D;k gksxh\ 

 (a) 25.60 fe-eh- (b) 38.40 fe-eh- 

 (c) 24.40 fe-eh- (d) 34.64 fe-eh- 

 In a B.S.W. thread profile, if enlarged pitch (P) is 40 mm, what will be its 
Actual Depth (d). 

 (a) 25.60 mm (b) 38.40 mm 

 (c) 24.40 mm (d) 34.64 mm 

29- ,d js[kk ,p-ih- ij vkSj oh-ih- nksuksa osQ lekukarj gS] bldk leifjek.k iz{ksi.k 

gksxk & 

 (a) mQèokZ/j (b) {kSfrt 

 (c) {kSfrt ij 300 >qdh gqbZ (d) {kSfrt ij 600 >qdh gqbZ 
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 A line is perpendicular to H.P. and V.P., its isometric projection of this line 
will be - 

 (a) Vertical 

 (b) Horizontal 

(c) Inclined at an angle 30º to the horizontal in front of direction of 
viewing. 

(d) Inclined at an angle 60º to the horizontal in front of direction of 
viewing. 

 uhps fn;s x;s izR;sd iz'u esa nks dFkuksa dks vfHkdFku (A) vkSj dkj.k (R) osQ 

:i esa fpfUgr fd;k x;k gSA vius mÙkj dks uhps fn;s x, dksM osQ vuqlkj 

fpfUgr djsa % 

 (a) A vkSj R nksuksa lR; gS vkSj R, A dh lgh O;k[;k gSA 

 (b) A vkSj R nksuksa lR; gS ysfdu R, A dh lgh O;k[;k ugha gSA 

 (c) A lR; gS ysfdu R vlR; gSA 

 (d) A vkSj R nksuksa vlR; gSA 

 Two statements are given, one labelled Assertion (A) and othe other labelled 
reason (R). Select the correct answer to the following questions from the 
codes given below. 

 (a) Both A and R are true and R is the correct explanation of A. 

 (b) Both A and R are true and R is not the correct explanation of A. 

 (c) A is true but R is false. 

 (d) Both A and R are false. 

30- A : leifjek.k iz{ksi.k esa fizafliy v{kksa dk vkUrfjd dks.k 1200 gSA 

 R : fizafliy v{kksa osQ lekukarj lHkh js[kkvksa dks leifjek.k js[kk,¡ dgk tkrk gSA 

 A : Included angle in between two principal axis in an isometric 
projection is 120º. 

 R : All lines parallel to principal axes are called isometric lines. 



XII-ENGINEERING GRAPHICS 12

31- A : ,d leifjek.k iSekus ij NksVs foHkktuksa dks izkjEHk esa n'kkZrs gSA 

 R : ,d leifjek.k iSekus ij] izkjEHk esa NksVs foHkktu fdlh Hkh eki dh 

leifjek.k yEckbZ dks ekius esa lgk;rk djrs gSA 

 A : On isometric scale, smaller divisions (mm) are generally marked in 
the starting. 

 R : On isometric scale, smaller divisions in the starting helps in easily 
measuring of any fraction of isometric length. 

32- A : leifjek.k yEckbZ o okLrfod yEckbZ dk vuqikr .3:2  

 R : leifjek.k yEckbZ % okLrfod yEckbZ :: Cos45º:Cos30º 

 A : The ratio of isometric length to true length is .3:2  

 R : Isometric Length : True Length :: Cos45º:Cos30º 

33- A : fiz”e os Bksl gS ftuesa nks vk/kj iQyd o ckdh vk;rkdkj iQyd gksrs gSA 

 R : fiz”e dks {kSfrft; ugha j[kk tk ldrkA 

 A : Prisms are the solids with two bases and rest rectangular faces. 

 R : Prism cannot be placed horizontally. 

34- A : vfHk;kaf=kdh esa leifjek.k iz{ksi.k dks yEcdks.kh; iz{ksi.k osQ lkFk iz;ksx 

fd;k tk ldrk gSA 

 R : ,d n`'; iz{ksi.k tSls leifjek.k iz{ksi.k dks xSj&rduhdh O;fDr Hkh 

vklkuh ls le> ldrk gSA 

 A : In engineering, Isometric projection may be used in addition to the 
orthographic projection. 

 R : One view projection such as isometric projection is easily 
understandable to non-technical person also. 
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lcls mi;qDr vkÑfr dks pqusaA 

Choose the most appropriate figure. 

35- fuEu vkÑfr;ksa esa ls dkSu lh vkÑfr ,d ,sls v/Zo`Ùk dk leifjek.k iz{ks.k gS 

tks oh-ih- osQ lekukarj gS rFkk vius O;kl ls ,p-ih- ij j[kk gS\ 

 Which of the following figure represents the front view isometric projection 
of a semi-circular lamina parallel to V.P. and diameter of which is resting on 
H.P.? 
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36- fuEu vkÑfr;ksa esa ls dkSu&lh vkÑfr ,d ,sls oxZ {ks=k dk leifjek.k izs{ki.kgS 

tks ,p-ih- osQ lekukarj gS\ 

 Which of the following figure represents the isometric projection of a square 
lamina parallel to H.P.? 

 

fn;s x;s Bkslksa dks leifjek.k iz{ksi.k osQ vk/kj ij lgh fodYi dk p;u djsaA 

Select the correct option corresponding to the orientation of the given 
Isometric Projection of Solids. 
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37- 

 

 (a) ?ku mQèokZ/j gSA 

 (b) f=kdks.kh; fiz”e dk v{k mQèokZ/j gSA 

 (c) fiz”e osQ vk/kj dk fdukjk oh-ih- ij yEcor~ gSA 

 (d) f=kdks.kh; fiz”e dk v{k {kSfrt gSA 

 (a) This cube is vertical. 

 (b) The axis of triangular prism is vertical. 

 (c) Base Edge of the prism is perpendicular to V.P. 

 (d) The axis of the given triangular prism is horizontal. 
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38- 

 

 (a) ;s iapHkqtkdkj fijkfeM ,d mYVk fijkfeM gSA 

 (b) v{k dh leifjek.kh; yEckbZ lPph 75 fe-eh- gSA 

 (c) bl fijkfeM dk leifjek.k iz{ksi.k cukus osQ fy, lgk;d vkÑfr dh 

vko';drk ugha gSA 

 (d) iapHkqt iQyd oh-ih- osQ lekukarj gSA 

 (a) This pentagonal pyramid is an Inverted Pyramid. 

 (b) This isometric length of axis is true 75 mm. 

 (c) Helping Figure does not require to draw the isometric projection of 
this pyramid. 

 (d) Pentagonal face is parallel to V.P. 
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39- 

 

 (a) fijkfeM dk v{k ,p-ih- ij yEcor~ gSA 

 (b) v{k dh okLrfod yEckbZ 40 fe-eh- gSA 

 (c) csyu osQ o`Ùkkdkj iQyd ,p-ih- osQ lekukarj gSA 

 (d) csyu osQ o`Ùkkdkj iQyd oh-ih- osQ yEcor~ gSA 

 (a) Axis of the pyramid is perpendicular to H.P. 

 (b) True Length of Axis is 40 mm. 

 (c) Circular faces of the cylinder are parallel to H.P. 

 (d) Circular faces of the cylinder are perpendicular to V.P. 
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40- 

 

 (a) Bkslksa osQ v{k dh oqQy m¡QpkbZ leifjek.k 80 fe-eh- gSA 

 (b) la;qDr v{k ,p-ih- osQ lekukarj gSA 

 (c) fupyk Bksl ,d oxkZdkj fiz”e ugha gSA 

 (d) la;qDr v{k oh-ih- ls yEcor~ gSA 

 (a) Total Axial Height of the solid is Iso 80 mm. 

 (b) Common Axis is parallel to H.P. 

 (c) Lower Solid is a Square Prism. 

 (d) Common Axis is perpendicular to V.P. 
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41- 

 

 (a) mQij okyk Bksl ,d oxkZdkj fijkfeM gS rFkk fupyk Bksl ,d oxkZdkj 

fiz”e gSA 

 (b) mQij okyk Bksl ,d oxkZdkj fiz”e gS rFkk fupyk Bksl ,d iapHkqtkdkj 

fiz”e gSA 

 (c) mQij okyk Bksl ,d oxkZdkj fijkfeM gS rFkk fupyk Bksl ,d iapHkqtkdkj 

fiz”e gSA 

 (d) nksuksa Bksl oxkZdkj fiz”e gSA 

 (a) Top solid is a Square Pyramid and the bottom solid is a square prism. 

 (b) Top solid is a Square Prism and the bottom solid is a pentagonal 
prism. 

 (c) Top solid is a Square Pyramid and the bottom solid is a pentagonal 
prism. 

 (d) Both solids are square prisms. 
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42- 

 

 (a) 'kaoqQ dk o`Ùkkdkj iQyd ÅèokZ/j gSA 

 (b) iapHkqt osQ iQyd oh-ih- osQ lekukarj gSA 

 (c) iapHkqtkdkj fiz”e vius yEcs fdukjs ls ,p-ih- ij j[kk gSA 

 (d) iapHkqt iQyd dh ,d Hkqtk oh-ih- osQ lekukarj gSA 

 (a) Circular face of the cone is vertical. 

 (b) Pentagonal faces are parallel to V.P. 

 (c) Pentagonal prism is resting on H.P. with its long edge. 

 (d) One side of Pentagoal Faces are parallel to V.P. 
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43- 

 

 (a) f=kHkqtkdkj fiz”e dk v{k oh-ih- ij yEcor~ gSA 

 (b) xksyk¼Z] fiz”e ij vius o`Ùkkdkj iQyd ij j[kk gSA 

 (c) f=kHkqtkdkj fiz”e vius vk;rkdkj iQyd ls ,p-ih- ij j[kk gSA 

 (d) iapHkqtkdkj fiz”e vius yEcs fdukjs ls ,p-ih- ij j[kk gSA 

 (a) Axis of the triangular prism is perpendicular to V.P. 

 (b) Hemisphere is resting on Prism with its circular face. 

 (c) Triangular prism is resting on H.P. with its rectangular face. 

 (d) Pentagonal prism is resting on H.P. with its long edge. 
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44- 

 

 (a) Bkslksa dk la;qDr v{k ,p-ih- osQ lekukarj gSA 

 (b) fupyk Bksl ,d 80 fe-eh- O;kl dk xksyk¼Z gSA 

 (c) mQij okyk Bksl ,d 60 fe-eh- v{kh; m¡QpkbZ okyk f=kHkqtkdkj fiz”e gSA 

 (d) csyu dk o`Ùkkdkj iQyd oh-ih- osQ lekukUrj gSA 

 (a) Common axis of both the solid is parallel to H.P. 

 (b) Bottom solid is a hemisphere of diameter 80 mm. 

 (c) Solid on top is a triangular prism of axial height 60 mm. 

 (d) Circular face of the cylinder is parallel to V.P. 
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45- 

 

 (a) iapHkqtkdkj fiz”e osQ vk/kj dk fdukjk oh-ih- osQ lekukarj gSA 

 (b) iapHkqtkdkj fiz”e osQ vk/kj dk fdukjk oh-ih- osQ yEcor~ gSA 

 (c) ;g 'kaoqQ ,d mYVk Bksl gSA 

 (d) 'kaoqQ dk o`Ùkkdkj iQyd ÅèokZ/j gSA 

 (a) One base edge of pentagonal prism is parallel to V.P. 

 (b) One base edge of pentagonal prism is perpendicular to V.P. 

 (c) This cone is an inverted solid. 

 (d) Circualr face of the cone is vertical. 
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46- 

 

 (a) o`Ùk dk O;kl fn, x;s xksys osQ O;kl osQ leku gksxkA 

 (b) o`Ùk dk O;kl fn, x;s xksys osQ O;kl ls de gksxkA 

 (c) o`Ùk dk O;kl fn, x;s xksys osQ O;kl ls vf/d gksxkA 

 (d) buesa ls dksbZ Hkh ughaA 

 (a) Diameter of circle is equal to diameter of given sphere. 

 (b) Diameter of circle is less than to diameter of given sphere. 

 (c) Diameter of circle is more than diameter of given sphere. 

 (d) None of the above. 
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47- 

 

 (a) Bkslksa osQ bl la;kstu esa rhu o`Ùkkdkj iQyd vkSj nks oozQ i`"B gSA 

 (b) Bkslksa osQ bl la;kstu esa nks o`Ùkkdkj iQyd vkSj nks oozQ i`"B gSA 

 (c) Bkslksa osQ bl la;kstu esa ,d òÙkkdkj iQyd vkSj ,d oozQ ì"B gSA 

 (d) Bkslksa osQ bl la;kstu esa rhu o`Ùkkdkj iQyd vkSj 'kwU; oozQ ì"B gSA 

 (a) This combination of solids has three circular faces and two curved 
surfaces. 

 (b) This combination of solids has two circular faces and two curved 
surfaces. 

 (c) This combination of solids has one circular faces and one curved 
surface. 

 (d) This combination of solids has three circular faces and zero curved 
surface. 
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48- 

 

 (a) Bkslksa osQ la;kstu dh oqQy leifjek.kh; Å¡pkbZ 84 fe-eh- gSA 

 (b) Bkslksa osQ la;kstu dh oqQy leifjek.kh; Å¡pkbZ 84 fe-eh- ls de gSA 

 (c) Bkslksa osQ la;kstu dh oqQy leifjek.kh; Å¡pkbZ 84 fe-eh- ls vf/d gSA 

 (d) Bkslksa osQ la;kstu dh oqQy leifjek.kh; Å¡pkbZ 120 fe-eh- gSA 

 (a) Total Isometric Height of the combination of solids is equal to 84 mm. 

 (b) Total Isometric Height of the combination of solids is less than 84 
mm. 

 (c) Total Isometric Height of the combination of solids is more than 84 
mm. 

 (d) Total Isometric Height of the combination of solids is equal to 128 
mm. 
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49- 

 

 (a) ,d {kSfrt "kV~Hkqtkdkj fiz”e] ÅèokZ/j oxkZdkj fiz”e ij j[kk gSA 

 (b) ,d {kSfrt "kV~Hkqtkdkj fiz”e] {kSfrt oxkZdkj fiz”e ij j[kk gSA 

 (c) ,d {kSfrt "kV~Hkqtkdkj fijkfeM] {kSfrt oxkZdkj fiz”e ij j[kk gSA 

 (d) ,d ÅèokZ/j "kV~Hkqtkdkj fijkfeM] ÅèokZ/j oxkZdkj fiz”e ij j[kk gSA 

 (a) A horizontal hexagonal prism is resting on vertical square prism. 

 (b) A horizontal hexagonal prism is resting on horizontal square prism. 

 (c) A horizontal hexagonal pyramid is resting on horizontal square prism. 

 (d) A vertical hexagonal prism is resting on vertical square prism. 
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[kaM&l 

Section-C 

fdUgha 5 iz'uksa osQ mÙkj nhft,A 

Attempt any 5 questions. 

jkgqy ,d vkblozQhe dh nqdku ij x;k vkSj ,d dksu vkblozQhe] xksykdkj osuhyk 

LowQi osQ lkFk [kjhnhA vkblozQhe foozsQrk us dksu ij xksykdkj LowQi bl rjg j[kk fd 

osQoy vk/k LowQi ckgj fn[kkbZ ns jgk Fkk tcfd LowQi dk vk/k fgLlk dksu esa vUnj 

pyk x;kA bathfu;fjax Mªkbax dk fo|kFkhZ gksus dh otg ls mlus vuqeku yxk;k fd 

xksykdkj osuhyk LowQi dk O;kl 40 fe-eh- gS rFkk dksu dh v{kh; m¡QpkbZ 70 fe-eh- gSA 

vius vuqeku osQ vk/kj ij og vc viuh vkblozQhe dk leifjek.k izs{ki.k cukus okyk 

gSA 

Rahul went to an ice-cream parlour and ordered a cone ice-cream with spherical 
scoop of vanilla flavour on it. Ice-cream seller places vanilla scoop in such a way 
that half of the scoop is only visible, rest of the scoop is inside the cone. Being on 
engineering drawing student, he estimated that diameter of the scoop is 40 mm and 
axial height of the cone is 70 mm. Based on his observation, he is about to draw 
isometric projection of his ice-cream. 

 

50- vkblozQhe dh oqQy okLrfod Å¡pkbZ D;k gksxh\ 

 (a) 110 fe-eh- (b) 90 fe-eh- 

 (c) 70 fe-eh- (d) 60 fe-eh- 
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 What will be the total true height of the ice-cream? 

 (a) 110 mm (b) 90 mm 

 (c) 70 mm (d) 60 mm 

51- vkblozQhe dh oqQy leifjek.kh; m¡QpkbZ D;k gksxh\ 

 (a) 89-16 fe-eh- (b) 73-44 fe-eh- 

 (c) 57-12 fe-eh- (d) 48-96 fe-eh- 

 What will be the total isometric height of the ice-cream? 

 (a) 89.16 mm (b) 73.44 mm 

 (c) 57.12 mm (d) 48.96 mm 

52- vkblozQhe osQ xksykdkj LowQi osQ osQUnz gksxk & 

 (a) xksykdkj LowQi dk osQUnz] 'kaoqQ osQ o`Ùkkdkj iQyd osQ osQUnz ls 20 fe-eh- 

mQij gksxkA 

 (b) xksykdkj LowQi dk osQUnz] 'kaoqQ osQ o`Ùkkdkj iQyd osQ osQUnz ls 20 fe-eh- 

uhps gksxkA 

 (c) xksykdkj LowQi dk osQUnz rFkk 'kaoqQ osQ o`Ùkkdkj iQyd dk osQUnz ,d gh 

gksxkA 

 (d) buesa ls dksbZ Hkh ughaA 

 Centre of Isometric projection of spherical ice-cream scoop will be at – 

 (a) Center of the spherical scoop will be at 20 mm above the centre of 
circular face of cone. 

 (b) Center of the spherical scoop will be at 20 mm below the centre of 
circular face of cone. 

 (c) Center of the spherical scoop will be same as the center of circular 
face of cone. 

 (d) None of the above 
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53- vkblozQhe esa osQoy ^dksu* fdl rjg dk Bksl gS\ 

 (a) {kSfrt Bksl (b) >qdk gqvk Bksl 

 (c) myVk Bksl (d) buesa ls dksbZ Hkh ugha 

 What type of solid is ice-cream cone only? 

 (a) Horizontal solid (b) Inclined solid 

 (c) Inverted solid (d) None of the above 

54- xksykdkj osuhyk LowQi osQ ckgj fn[kus okys fgLls dk leifjek.k iz{ksi.k gksxk & 

 (a) nh?kZo`Ùk (b) xksyk 

 (c) v/Zo`Ùk (d) xksyk¼Z 

 Isometric projection of visible spherical vanilla scoop only in given 
conditions will be - 

 (a) Ellipse (b) Sphere 

 (c) Semi-circle (d) Hemi-sphere 

55- ;fn vkblozQhe foozsQrk us] vkblozQhe osQ vk/kj dks 'kaoqQ osQ vkdkj osQ LFkku ij 

csyukdkj j[kk gksrk rks & 

 (a) vkblozQhe dh oqQy m¡QpkbZ leku jgrhA 

 (b) vkblozQhe dh oqQy m¡QpkbZ c<+ tkrhA 

 (c) vkblozQhe dh oqQy m¡QpkbZ ?kV tkrhA 

 (d) buesa ls dksbZ Hkh ughaA 
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 In case ice-cream seller, might have used cylindrical base instead of conical 
base in ice-cream then – 

 (a) Total Height of ice-cream remains unchanged. 

 (b) Total Height of ice-cream increases. 

 (c) Total Height of ice-cream decreases. 

 (d) None of the above. 


